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The LCM of two numbers is 864 and their
HCF is 144. If one of the numbers is 288,
the other number is:

A eIt & 9.9 IR A" FAW
864 3R 144 & | 3R U+ HEAT 288

A S \1(432

a)576  b) 1296 d) 144




If the LCM of two numbers is 792 and their
product is 14256. What is their HCF?
N & TEAR #T a4 792 ¥ 3R

9_,/3 SAHT VAR 14256 § A 3T AE.
qar
Mase€ a) 12 b) 15 ¢) 16
yr 18 d) Can’t say
192 . =
> ®
343
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M JC £ The LCM of two numbers is 44. times of their
HCF. The sum of LCM and HCF is 1125. If one

UM" }' numberis 25, thenqthe other number is

A TEAHT FT AH. 3% A B 44

AT § | 396 A.F. d°T AF. T AT

l’f}?-—&g = 1125 §| 3°R & wear 25 § & g@d
- HEAT ATV |
&« = #1100  b)975  ¢)900  d)800

Fam
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When product of two numbers, is divided by its
HCF then we get 5775, but when it is divided
by LCM, we get 25, If one humber is 525, what

is the second nurgn er? LCM

& eIt & IUE H 9 3WH AH. @
oTer foar ST & 99 5775 Wied @dr §
99 9.9, O A1 Ir Siar § 99 25
g 8] I} 3 ¥ & wEwr 525
ar gadl |@Ear 4 87

275 b) 325 c) 405 d) 210
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L+H=

512

The sum of and difference between the LCM and
HCF of two numbers are 512 and 496, respectively.

If one number is 72, the% the other number is:

ar wEEt & ogad gAmEd (Lom) 3R
HATYGdS (HCF) T IRT dUT 3% ST HI
3ax &AA: 512 3R 496 B IE 3T/ @ H
&A1 728, Y qEd HEAT Hla-dr

a)64 b) 80 c) 40 56

Sem e~ A‘_,flgs%‘fl
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The LCM of 4 no’s is 90 and the HCF of each pair
is3 find the muIt|pI|cat|on of all the numbers.

20 x3bA BCA 2dX 4 gt w1 Lem 90 § 3R TRw AT

e b HCF3I%1=rsa°rm:m3ﬂ$r?rmmm

\yﬁ430 b) 405 c) 810 d) can’t say

LLM= 3alcd =90 x97

We don’t have any general formula for more than
two numbers, but, if HCF of every pair of numbers
~ is same, then

N Product of nos.= (HCF)" 1 x LCM
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What is the highest number which gives
same (;n{zhhger when divides
1128,1728 and 22087

I AeIH wewm A R
1128,1728 3iX 2208 & fasnfoa &=
W AT AV AT §?

a) 600 b) 480 c) 1080

\,df)/120 e) None of these




Let N be the greatest number that will divide

1305,4665 and 6905 leaving the same

% > rem;nzjerMcase. Then, sum of the
%f?%% digits in N is:

N a9 &Y & &% g&ar g &

1305,4665 3T 6905 & HET FIF TATA

N & 37l &1 AT
0% 112.=1120 = N YR ot 7| 3T qdarsv|
a4 b) 5 c) 6 d) 8




2, 56 7
\/

How many numbers give same remainder
when divides 1260,1500 and 1860?

ol et WA e

1260,1500 31X 1860 # T F=
9 AT AW g2

a) 120 16 c)15

d)12 e) 10

lox12- =I1Q0 = gt(a,t,g

X =\g




What is the highest two digit number which

gives same remainder when divides
860,1070 and 1700?

a8 St @waw @ F i Tear Ftad ¥
S ad 860,1070 3tk 1700 Fr Rnfoa
A W A AV aay?
a) 210 b) 21 70
d) 42 e) None of these




220, Y00

160
20,40,%2,20,16,
g ¢

How many two digit numbers give same
remainder when divides 1212,1532 and
2332? A4

ar 3l Y ¥ frael gEaw § oed
1212,1532 3ix 2332 & fsnfad +&
9T AT AV FIAT 8172

a)12 b) 11 )7

d)5 \,efﬁ\lone of these




One day a teacher brought 740 chocolates and
equally distributed to the students. He was left with
some chocolates. Next day he brought 860
chocolates and distributed to the students (same
number of students as on the previous day) equally.
Then also he was left with the same number of
chocolates as on the previous day. If the number
students lie between 35 and 50, how many
chocolates did each student got on the second day?

frelt et 3reaTgs oEl # X W e F

g T @ g Oiadl aiede §9
ol 1 "@Ear 35 AN 50 F fw g
g foet 9eAF B F st Gieee Ad?
20 b) 40 c)20

1 d) None of these
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Let x be the greatest number which when
divides 2871, 4627 and 7700. the
remainder in ¥ach Mhe value of
(x — y) lies between:
AT NfaT fF x g 989 & 9 gEar
g, fowa 2871, 4627 3R 7700 &
franfaa & W 9AF AT H y AW
g9ar 8] (x—y) #1 AW, Prafatad #
¥ Fas i e
a) 195 and 200 b) 205 and 210
200 and 205 d) 210 and 215
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